8/1(K)~ 9/4(R)

X FRERIEDISRIIONISRATT,

INFEVRSAHIRA LT—T L

A X 7K /N & + H
9:30 — g hik Vew —ﬂ?z*ﬂ%&(eoﬁﬁv’:“/ — & ¥R (604 —ﬂ%ﬂﬁ(soﬁ?@” — i #)chiy Vew 9:30 J190h &k — AR ¥
A ~ (ERELL) (ERELLL) (ERELL) (ERELLL) (ERE ML) ~ (N1 ~IN6) (k&L L)
10:50 +2 +B +B e A 10:30 NI +E
10:55 — R Dk 605:/ e — e #h ik — e A chik — e #hik — AR (6043 10:35 J2 4D #k J180#k
B ~ (BRELLL) (BRELLL) (BRELLL) (BRELLL) (BRELLL) ~ (/IN5~m3) (/M ~1\6)
12:15 +E pid +B o A 11:35 I +E
12:20 — R (60%) B3I 605) — H& #D #R(6043) F—LD5R B3Ik 60%) 11:40 — R A% J24D#Rk
C ~ (BRELLL) (BRELLL) (BRELLL) (BRELLL) (BRELLL) ~ (BRELLL) (/N5~h3)
13:40 K8 R R +B KiE 12:40 K18 pied
13:45 — iR Y —REaR — R4 AR AL a—t — B R0 Y, 12:45 JR BP1
D ~ (BREUL) (BREUL) (BREUL) 1350~ 14:50 (BRRELLE) ~ (1M1 ~1\6) (/M ~E3)
15:05 a : : 13:45
+E Kig i) = TR INTT, +B
13:50 J24N %k J2E Pk
E ~ (/N5~th3) (/N5~th3)
14:50 7(1731 EE
15:50 BP1 J190#R J170#% J1¥0#k BP1 14:55 J140#% J170#%
F ~ (/M ~B3) (/N1 ~11v6) (1N ~11v6) (1N ~11\6) (/M ~F3) ~ US BTN (11 ~11v6)
16:50 K15 K15 I +E ]2 15:55 N ]2
16:55 J2#D$k J1#) £k J19%R J1# R J1#0#k 16:00 J2#) Rk J1# 5§k
G ~ (/N5~eh3) (/N1 ~I16) (1N ~11v6) (1N ~11\6) (11 ~11v6) ~ (/N5~eh3) (1N ~11v6)
17:55 +E K15 I +E T 17:00 i) = +E
18:00 J1#D#R (6043 J1FD#R 60%) BP2 J28) R #k (604 J280h#R (604 17:05 BP2 BP2
H ~ (1N ~11N6) (/N ~I16) (M ~F3) (/N5 ~3) (N5~ 3) ~ (1M ~F3) (M~ 3)
19:20 K15 K15 /ML +B i 18:25 x5 FE
19:25 — %R (604 — i G Pk — A& %R (609 J240#% (60%3) — & # P &R 18:30 BP3 — B %) ch &R
I ~ (B (BHAELE) (BHAEE) (N5~ 3) (BHAELLE) ~ (M ~F3) (BRELLE)
20:45 K18 R i +B i 19:50 K15 i
20:50 — gk — i3 ¥ bk — g hik — 3 ¥ bRk — B8R 60%) 19:55 —fahifk NVew
J ~ (BHRELE) (BHAELLE) (BHAELE) (B (BHAELL) ~ (BREL)
2210 x5 x5 kig k4B i 2115 x5
XELFIFOA—FEETT, DG (T2 TRRITAELGYET,
Lo )La—rEEFR XLUUAIBEOREIIHBYEEA ML ybh- L a—XFE{ETHEZSBULVELET,)
(Frotl) FrowLFFHEOSHIET =FDHFATR—YVERE
FH 6047 2,200 (F1A) AMADFrotEL | HED50% = ) TF
THMHA 607 2,750 (FiA) LHDFY L #E£MD100% 011-641-2022




